Relay-type Terminal Block

UL C-ULBE®

EwF . pitch 13mm

1]
” . vt | UF1005-30A-PCA
ey
I E ACBOOV 30 A
1 1
fEfZIEI DC500V  100MQ LA E
_*_ T lusulation Resistance] DC500V  100MQ and over
E E fit & E AG3000V 143 LLE
= Withstands Voltage | AC3000V 1minute and over
- RLE
i E - —-—10 E g Screw Dia:r‘n:eter M4
LT L
| 4T 8-14AWG (UL/C-UL)
I = CoEalt:i i 8-12AWG (Tuv)
BEERT _
© Rei%nfed Crap Ffrmina R3. 5—4
T 7/ T T ULEZSRA =X T7YR)=04% VG /FWA
8 N 10 3 7 UL Wiring Method Factory Wiring
[ —f% A2/ General Tolerance 0.5
14 |R!§/Scale% BifsI Unit mml
- i [P ch _ _
T M &
| L l - L _L
| I
: |
e |l=lallNsls U %
T -
~ | % i l’!ﬁ o NES ®@ - AL < @
r 1 h ) = 707 )\7 p = F7u—
/ / /A / 1]
© WERE E-
Sl TAE A — (] P. @hN—E#ER (1/2)
« Ordering Form:Type No. No.of Poles(P) A s
CRERRE A AT RV L ANem, -1
* Connection screw:Tightening torque is 1.4N-m. ﬁ | C «><—1
SR IR (RSN ARE— RSN, AT — 4 IR S, IR, {f
« Application : Commercial appliances, including business equipment, electronic data processing equipment, etc.
or general industrial. ol
s ZOMAT T ay %k a—hE—2 (F2118, F2143) 6 of =
« Other options  *Jumper (F2118, F2143) &
M {t#%.~Specifications. 7}
% /Part No. EE/Part No. HE. Material #48 Standard | <T3%/Size ILE/Treatment 7% /Remark Sl
1 G Internediate base [ 7 = / — VKA Phenolic UL H {8 Black
2 Widh £ A End base A | 7=/ BII Pheolic o R & Black M4k /Poles | 1P | 2P | 3P | 4P | 5P | 6P | 7P | 8P | 9P | 10P | 11P | 12P
3 i - B End base B| 7= /—/V#fl§  Phenolic UL M8 Black
4 HESA Terminal G Brass C2680R WE t2.0 A XA Tin-Plated A 4l b4 67 80 93 106 119 132 145 158 171 184
5 R E R Screw ] Brass 2700 MAX0.7TX80 | =yhAv¥  Nickel-Plated WSz hAFR Type® B 31 44 57 70 83 96 109 122 135 148 161 174
6 FUFHR Marking strip| 77 A N— Fiber UL R 0.8 B hite C 27 40 53 66 79 92 105 118 131 144 157 170
7 H 8= Cover #Yh—=HKF=F  Polycarbonate UL R 1.0 % B Transparence
8 A= E A (over Retaing scren # & Brass 2700 M3X0.5X60 | =yhAAy%  Nickel-Plated PIZAAFA Type® W% /Poles | 13P 14P 15P 16P 17p 18P 19p 20P | 21P 22P 23P 24P
9 JHREAR L K Comecting bolt £ Steel Sye M4x0.7 Zf72A—b Tk o Trume T A 197 210 223 236 249 262 275 288 301 314 327 340
10 S ko Comnecting nut # Steel SWCH M4X0. 7 Z/EA-b ot Chronde Tremen
I Wk T = — Tmetion e | ELE=—1 Foline] chioriee L B 187 200 213 226 239 252 265 278 291 304 317 330
12 A —=hF vk Insert Nut g} Brass 36048 M3%0.5 AvEAL  Noplating C 183 196 209 222 235 248 261 274 287 300 313 326




